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QUESTION 1

What are components of an ICT infrastructure? (Choose all that apply.) 

A. Software 

B. Hosts and Servers 

C. Backup Devices 

D. Network switches 

Correct Answer: BCD 

 

QUESTION 2

Match the operating system with the protocol. The operating systems include:1.Windows 2.Linux 3.Apple OSX; The
protocols incude: A-NFS B - CIFS C - SMB 

A. 1-A; 2-C; 3-A. 

B. 1 - B+C; 2 - A ; 3 - A . 

C. 1 - A+D; 2 - A+B; 3 - A . 

D. 1 - C ; 2 - A+D; 3 - A. 

Correct Answer: B 

 

QUESTION 3

It is the interconnection via the Internet of computing devices embedded in everyday objects, which enables them to
send and receive data Which of the following fits the statement above? 

A. Cloud. 

B. Big Data. 

C. Social Media. 

D. Internet Of Things. 

Correct Answer: D 

 

QUESTION 4

Which of the following is not involved in the SCSI Protocol Addressing? 

A. Host ID. 
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B. BUS ID. 

C. Device ID. 

D. LUN ID. 

Correct Answer: A 

 

QUESTION 5

Storage cache can optimize the speed of the storage system. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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